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SECTION A: BUILDING CONSTRUCTION 1N
Artswer af feaxt TWO guestions from thiy section.

{1 Explain two methods of increasing the lond cormrying capacity of structural
timber roof.

(i) Using a line diagram, show each of the following in o corrugated sheet roaf
coverng: )

() net cover;
(1) sheer widih;
(i) side lap,

With the aid of single line sketches, distinguish: X

(1) short span roof from large span roof;

() lathce girder frame from bowstring roof

Explain three advantages of using hollow pots in upper floor construction. (6 marks)

(i) Outline four reasons for providing openings in upper floors.

(it} With the aid of Iabelled skeiches, show each of the following floor components:

(0 trimmer beams and trimmer;

(1)  hollow beams and mild steel straps:

{12 marks)
An upper timber floor is (o be constructed in 75 mm wide joists spaced at 450 mm &
cdntre 1o centre.
I the floor span 1s 3800 mm, caleulate the depth of the timber joists.
(3 marks)
Sketch and label a double parlin roof. (5 marks)

(1) Name four tile roof coverings,

(i} State two advantages and twe dissdvantages of each of the following as roofing

materials:
()  timber;
(Imy  steel

(6 marks)







easytvet.com




easytvet.com

—






